
Ordinary Differential Equations – 1 (ODE-1) 

Exercise 11  

Question 1 What is the form of a particular solution to be searched for according to the method 
of undetermined coefficients for the following DEs?  
a. ttetttyyyy -+=-+- sin33 2&&&&&& , 

b. 3 36 13 1 sint ty y y e te t- -+ + = - +&& & , 

c. ( )4 28 sin 3 1 costy y t te t t-- = - + +& ,  

d. tettyyy -=++ 2sin168)4( && . 

Question 2 What is the form of a particular solution to be searched for according to the method 
of undetermined coefficients for the following systems of DEs?  
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Question 3 Find the general solutions for the following systems of DEs. 
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Question 4 What are the values of a Î¡  for which all solutions of the system 
0 1 sin
1 0 0
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Question 5  
a. Which pair of functions ),( tet  or ),1( te  can constitute a pair of fundamental solutions for a linear 
homogeneous second-order DE with functional coefficients continuous for t Î¡ ? What is the DE?  
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fundamental solutions for a linear homogeneous system of first-order DEs with functional coefficients 
continuous for t Î¡ ? What is the system? 
 

  


